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6 |P# & 34 36 700 9.0] 61.0
20 g =2 38 33 71 8.0/ 63.0
Mz (M BFE 37 35 12] 9.0 63.0
Mo BB Bo 35 37 12| 9.0 63.0
S |iBH =EZF 36 40 16] 13.0] 63.0
6 HII FEZ 37 38 75 11.0] 64.0
5 (Bl B3 37 37 14 8.0 66.0
8 | &H = 39 41 80| 12.0 68.0
L =% IR 39 42 81| 13.0 68.0
1062 |EHE Fith 39 43 82| 13.0/ 69.0
1 |%£H =X 38 45 83| 14.0 69.0
1261 |50 #F— 43 38 81| 11.0, 70.0
13 |HhJIl [&R] 43 40 83| 13.0, 70.0
1461 |FgiE ot 42 40 82| 12.0, 70.0
1561 [BR sk 38 40 78 8.0[ 70.0
166 | #H A 39 42 81 11.0 70.0
1 m &HZ 36 39 75 5.0[ 70.0
186 EH X5 38 45 83| 13.0, 70.0
1961 |BlR BE— 44 39 83| 12.0, 71.0
2061 | ER &KiE 42 42 84| 13.0, 71.0
212 |[AElL &F5H 41 42 83| 12.0, 71.0
22 dbAx Kt 38 39 17 6.0 71.0
2361 |BIRA FE= 43 41 84| 12.0, 72.0
2461 ;R BAE 41 40 81| 9.0 72.0
256 | E¥ IER 42 43 85| 13.0, 72.0
266 |FL & 38 40 18] 6.0] 72.0
2761 |fA  IEFN 38 40 18] 6.0] 72.0
EIAPN S 41 35 16) 3.0/ 73.0
2961 IUR AEF 44 43 87| 14.00 73.0
304z | KAl FsE 40 40 80| 7.0 73.0
14 |y 2 42 45 87| 14.00 73.0
2061 mF =5 41 44 85| 12.0, 73.0
Bz [FA M 40 42 82| 8.0 74.0
A6 HF EERK 42 43 85| 10.0, 75.0
356 |#xE F 42 44 86| 11.0, 75.0
366 | LR w5 41 45 86| 11.0, 75.0
3G | #H  FIX 42 46 88| 13.0, 75.0
8 AR = 42 46 88| 13.0, 75.0
3967 |FHE  EER 49 41 90| 14.0| 76.0
4061 1EH EH 46 43 89| 13.0 76.0
NG [BrAR =& 39 43 82| 6.0 76.0
4240 ERg A 40 44 84| 8.0 76.0
431 |tk I1EHH 45 41 86| 9.0 71.0
4461 |3EFE  B— 40 43 83 6.0 71.0
454G [ FA 44 39 83] 5.0 78.0
4661 |97 EHR 43 45 88| 10.0, 78.0
4761 |BEE R— 43 46 89| 11.0 78.0
48 M EED 41 47 88| 10.0, 78.0
4961 Bl BR 47 45 92| 13.0] 79.0
504 | ANUE Bk 50 44 94| 14.0| 80.0
S16L Rk s 44 47 91 11.0] 80.0
52 |1EH % 45 47 92| 11.0] 81.0
531 At E HX 49 47 96| 14.0| 82.0
S KT Dh 48 49 97/ 10.0/ 87.0
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